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Plotting yields :

We see that close to ✗
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a good approximation, but the range
where it fits is relativetely small, so
in general , it's a bad approximation
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The non-linearity may affect control if not accountedfor, at small z,
increasing 2- her less effect than at large 2- (as shown in the plot in 1.),

meaning that a poorly designed controller will oscillate easier further away from
the * - values

.
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The balances are component in tank = component flowing in - component flowing out - comp. consumed
created
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Similarity , for Band C
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